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QUESTION 1

What is the maximum port speed of an Ethernet port on a Cisco Nexus 3232C cluster-interconnect switch? 

A. 40GbE 

B. 200GbE 

C. 10GbE 

D. 100GbE 

Correct Answer: A 

 

QUESTION 2

While preparing for a new cluster installation, your customer indicates that they have some disk shelves and switches
that were discontinued at their old site. They want to re-use as much of this equipment as possible. You must verify that
their discontinued equipment is compatible with the new equipment they have on order. 

Which two actions will accomplish this task? (Choose two.) 

A. Use the Hardware Universe portal (HWU). 

B. look up the compatibility in the Interoperability Matrix Tool (IMT). 

C. Verify compatibility from Activity IQ. 

D. Run the Cluster Configuration Builder tool (ConfigBuilder). 

Correct Answer: B 

 

QUESTION 3

Click the Exhibit button. 
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A customer has a 2-node FAS8200 cluster with four DS212C shelves with 10 TB SATA drives. Referring to the exhibit,
an aggregate will be created with which default RAID type? 

A. RAID_DP 

B. RAID_TEC 

C. RAID4 

D. RAID1 

Correct Answer: A 

Reference: https://www.netapp.com/us/media/tr-4375.pdf 

 

QUESTION 4

What are three LIF roles? (choose three.) 
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A. intercluster 

B. node management 

C. Intcluster 

D. cluster management 

E. service processor 

Correct Answer: BCD 

 

QUESTION 5

You were asked to install a FAS9000 with two quad-port SAS PCI cards. The SAS PCI cards are installed in slot 9 and
slot 1. In preparation for the installation, you are filling out the SAS cabling worksheet. 

In this scenario, which ports are used for the second stack? 

A. 9a/1d 

B. 9c/1a 

C. 9b/1b 

D. 9a/1a 

Correct Answer: C 
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